TCP Sender & Receiver Buffer Related Doubts

Q:

Consider the following N/W,

Node 1


Node 2


Node 3
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Router 1

Here,

Node 1 Transferring File of size 1500MB to Node 2 (Packet size 1500Bytes)

Node 2 Transferring File of size 1500MB to Node 3 (Packet size 1500Bytes)

Node 3 Transferring File of size 1500MB to Node 2(Packet size 1500Bytes)

In the above N/W Node 2 receives Packets from two different sources(Node 1 & Node 3). Now I Want to Know About Node 2 Receiver Buffer?

Will it use a single Receiver buffer to receive Packets from two different sources(Node 1 & Node 3). Or it will use a different Receiver buffer for each source.
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Router 1

Here,

Node 1 Transferring File of size 1500MB to Node 2 (Packet size 1500Bytes)

Node 1 Transferring File of size 1500MB to Node 3 (Packet size 1500Bytes)

Node 3 Transferring File of size 1500MB to Node 2(Packet size 1500Bytes)

In the above N/W Node 1 sends Packets to two different destinations (Node 2 & Node 3). Now I Want to Know About Node 1 Sender Buffer?

Will it use a single Sender buffer to send Packets to two different destinations (Node 2 & Node 3). Or it will use a different Sender buffer for each Destination.













